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Answers may be written . cither in English or in
Hindi: but the same medium should be used through-
out the papét. )
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Attempt all questions.
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S:t-clion A
(@vs '31.')
Explain truth and validity. s
T s Ay w® = Hifau !
| Or
(3reram)
Explain distribution of terms.

W # efa # een wfm

If “All politicians are corrupt™ is True, then what can be inferred

about the truth and falsity of the following (any three) : 3x3=9
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. (D. Some non-politicians are non-corrupt.
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(i) - No non—corru.pt_ the politi_cians.
e H-ye- ToAm TE ¥ |
(iif) Some politicians are non-corrupt.
) TR FH-we §
(iv)  All non-corrupts are non-pqliticians.
| oot H-we F-ToAW E |

Using rule method find out the fallacies committed and rules

broken in the following arguments (any three) : 3x2=6
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(i)  OEO-—V |
(iil)  1AO—II|
V) EAO—V
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Use nine rules of inference to prove validity of the

following (any rwo) : T 2x5=10
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(i) PD(QvR)

(i) SOH

(¢). By using shorter truth table method determine the

validity/invalidity of the following (any one) : 5
YR GeqA WO F A w efetad #
Avaysdve & W # ST TG (B )
0) _l.i':(o:» R) /=~ (P.Q)DR
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(k) WX.Y,Zare fals_é and A, B, C are true, then determine

truth/falsity of the following (any rwo) : 2x2Ve=5

wﬁx,mzmﬁt&a!c@%ﬁﬁaﬁfm
=1 'm/m.% at A sEE Ry
(F Q) |

@ (AvB):.(XvB)
(i) "'(BVC.)E(‘A.B).
Gii) (B v X). (Y v2)

Use truth table method to prove Validity/Invalidity of ‘the

following (any mwo) : ' 2x4=8

@ W yam #:1a ge Fefatan @ dvaysidva
faz =ifg (#1 )

@ P.Q



(i)

(iii)

(a)

(7) | 5833

P=~Q /.. P
P5(QvR)

Po>~Q 7..PvR.

Symbolize the’ following using the logical notation of

* propositional functions and quantifiers (any three) :

Ix2=6
ot 51 A ST T 6
fafae (F¥ &)

()~ Al that glitters is not Gold. (Gx, Lx)

vﬁaﬂaﬁﬁha@'-mﬂﬁﬁn

(i)  Potatoes’ alre' nutritious. . (Px, N;c)

o difes ¥ 1
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(i) Only teachers are Intelligent. (Tx, Ix)

o fows gfgmm ¥

(iv)  Students are Present. e ' (Sx. Px)
oA aftwm ¥
b) Define the following into stroke function : 6

frafafea aﬁaﬁmm H qﬁwﬁa Fifag -
Pv(Q.R) |
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8. Explain t.he following with c:;amples (any._ one) : _ 7
P — e (3 )
G} Fahacy of complex question. |
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. (h'j Difference between formal and informal fallacy.

vt T st it 4 0
l.denli}y and explain- the féllacy in the foilc;.wing (any two) :
2x4=8
_'ﬁm_ﬁwaﬁﬁmﬁqaﬁzmm_'
| aﬁﬁm (@ @) - |
(:'.) Exactly how 'd_id you fefl when you murdered your

*  son.
g 39 o A TEEE W W A T A A
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(i)  Aspirin relieves pain since it is analgesic.
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(iify -} want to buy iing toothpaste because majority of the

people brushes with zing.
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